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Select the equation that is true when the
number & is put into the box.

4 Ciual) — i g1 oY Lie 1 2 ol

a:.-jﬁd..ajmh.,:m;;_,ﬁqﬂhidiudﬁ _naal

ol a gall (28

56 +[ |=7

4 x4

]

A teacher goes to the shop to buy paint
brushes and small cans of paint. She pays
a total of AED 940.

She buys 8 brushes at AED 50 each.

The rest of the money is used for the 6 cans
of paint and each can of paint costs the
same amount.

If the teacher uses all of remaining
money to buy the 6 cans of paint,
how much can she spend per can?
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Identify the pair of fractions that show a Aagaia A3 jlia 3had A ) Sl gz g5 a3a
correct comparison.

A
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The perimeter of the rectangle shown lli)i 5 s okl o gl Jekaiisall Jasas

below is li}i_ meters. i "
10 e

W meters

9
3 — meters
10

What is the width of the rectangle, in G e dphaiudl e e
meters?
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Hind works in a call center receiving emails
from customers. The bar graph shows the
total number of emails she received on five
days |last week.

4 Ciual) — i g1 oY Lie 1 2 ol

A g I Qi 0 JLEiY S pe A s JaeS
olial Baae Yl Al Jiatl il U e (S3asY))
Ll Al a8 Bl 200 Jlea] mua s

bl £ gl A Al dad DAa

Emails Received aabod da, sy Ja 0

g B

8

IRA

Mumber of Emails Received

Tuesday

eLZEn

i
:
;

IFIFHI

i

Wednetday
el 1
Day asdl

Thuarsd sy Friday

LH‘LJI '«_‘?_“

How many more emails did Hind receive on
Monday and Tuesday than she did on
Thursday and Friday?

C I aw

emails
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The rectangle below has an area of 108 2a Jiefiin 108 5 s slial Julaioudll dalis
square centimeters.

f———9 centimeaters ——

What is the value of x, the length, for ( Jom ¢ Jabaioaall J e i A1 ¢ X i e

the rectangle?
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Identify the equivalent expression to the sl laiall ASall aiall
one below.

Identify the expression that is equivalent il el ASAN il S3al
to the expression below.

546 + 319

500 +300+40+10+6+9

S00+300+4+1+6+9

50+30+40+10+6+9

5+3+4+1+6+9
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Calculate.

2538 x6
Answer: = [:] KEES

Select all statements that can be
represented by the expression 5 = 4

4 Ciual) — i g1 oY Lie 1 2 ol

el Leliad (S (AN Gl jLaall asan
4x5

A teacher puts 5 chairs at each of 4
tables.

Ga dlglhs JS Jsa gl S5 pleall gy
Yy )

There are 4 rows of flowers. There
are 5 flowers in each row.

There are 5 birds on the lake. Then,
4 more birds join them.

3,55 g 25 e dsiad 2a
s S 3

pel] il 5 5 ) (B judlias § 2y
A pfuac 4

A teacher buys 4 red markers and 5
black markers.

a8 5 5 el yan A28 4 alad s il
.';Il:‘}""‘

Halima has 4 bags. She puts 9 coins in
each bag. What is the total number of coins
Halima put in these bags?

Answer: [ ] &Y
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Select all shapes that appear to have at Cpalia B e L 0 JISEY! auan sl
least two parallel sides. o)) sa

A,
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The perimeter of the rectangle shown 10% & sl ol L?_u.'a}aj'l Ll

4
below is 10— meters. 7
10 J e

= Jsiall i 3 ok e i Qi oL
1 6
| T
the length by % meter, T

A new rectangle is created by reducing

W meters

9
3 — meters
10

What is the perimeter of the new  aaall Dliuall Jagas (5 gbess oS
rectangle?

A.
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Select all true comparisons. Asgaiall Gl il ases 5al
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15.
A teacher asked 119 students, "How many il ggll 2ae S Ll 119 Cilabaall (saa) il
phones do you have?" She recorded the ot S Lty Sl s M50l Al AL seadll

data on the graph below. RUEE A

Students with a Phone
A pana o1 g ¢ phang cuddt Auliall

0 1 2 3 4

Number of Phones
A pasall L gt

]
et
c
@
o
=
el
(¥a]
.
. O
e
ar
= |
E
=
=

What is the total number of phones that - _ oh e
students have? [: T iriial) ol ‘-"m gl e b »] oS
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Identify the true statement about angles. LN e dagaall 5 jlell 23

An angle that turns through five
1-degree angles has a measure of 5
degrees.

=1 e S U0 e 58 Gl dy 40 30
a5 el S da 0

An angle is formed by two rays that L;i Lagin 2o g Y pelad e JSEE 45 4 5
do not have the same endpoint. A% i dlad

An angle measure is equal to the
total length of the two rays that form
the angle.

Oeladll sk £ sana (5 st Ay gl b
Al 3 NS ol

1
An angle that turns through —— of o
? 9 360 dﬁﬁj“ﬁﬁmﬁ_‘]ﬁ#ﬂl@ﬁjl

a circle has a measure of 360
degrees.

Aa 3 360 ks
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Which expression is equivalent to the Al gl Al dall  BSE L Lah e 6
value of the dot on the number line shown Tolial dlaey) Jad e dais ol
below?
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Select all figures that are divided such JS Jial G Lt 23 30 JISEYT ppan 3

1 g 1.
that each part is 3 of the area of the (el JEEN daline s

whole figure.
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Select all choices that are factor pairs for 2aall Lol ge g5l b ) ol LAl agan jial
the number 28. 28

1and 28
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Hind works in a call center receiving Agi g S Bl Uiy S s A 238 JasS
emails from customers. The bar graph Baae YL ol Jiall | i 0 G (ai1)
shows the total number of emails she A A Sy '71:"""‘-?11 e Jea) sy ol
received on five days last week. el gl ol dsed IS Ll

Emails Received datiall du, zy Jau 0

LI

Number of Emails Received

S

i
I
i

IWionday Tuesday Waednesday Thuirsday
ety MG ela I adl
Day agd

What is the total number of emails Hind Letlalins] 1 a5 3SIY) il 11 202 Mas) La
delivered on Monday and Tuesday? €l LYl e ia

g
|

C
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Select all ways to show how to find the dad A8 b puss 5 A Gkl psan Al
value of 6 x 30, 30 x 6 4ad

6 groups of 3 tens Dl pde 3 lde JS B e gana B

6 groups of 3 ones Whanl s 3 lgie JS B De sane B
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A teacher asked 119 students, "How many il el 2ae K" Uil 199 Silaladll s}«
phones do you have?" She recorded the o LS il oy Caalh y "pSl il Al
data on the graph below. bzl

Students with a Phone
Al pans 01 ga 2 alaay it 3._.J.h1|

0 1 .

Number of Phones
&l pancall ol gt 238

%]
i
c
1)
=]
=)
—
v
[
O
[
@
om |
3
=
=

How many of the students have 2 o o
phones? :] € O] (il agaal Gl Bl e oS
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Each figure is divided into 4 equal parts of Al Ay gluia o) Sal 4 ) JSE S a3
y ; | B L
the whale figure. Select all figures which Jlas sl — Sy Al JEsY
A Lo 058 A At

1
show 0 of the figure is shaded.
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Identify the equivalent fraction to the one U s gall S S (g3l Sl a3a
shown below.
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25. . .
A teacher asked 119 students, "How many il gl aae LS8 La 119 Slaleall (s2a) Sl
phones do you have?" She recorded the ot Sl Jamadiy Suald s "FaSal Al Al sasall

data on the graph below. bl Jsa

Students with a Phone
Al pane o0 g plang cpdlt Aliadl

o 1 2 3 4

Number of Phones
Al panall | pgdt e

wy
=
c
ar
o
=
B
v
y—
-
-
o
L
E
3
=

How many more students have 1 phone ) e aad g cdila gl sl Al i by a5
than students who have 4 phones? Yol g 4 agaal el Agliall sae
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Hamza has two pieces of wood that he Lagaading o)) 3 g adidll (ya (indal 3 jas (5
wants to use to make a shelf. The first | sia 4—‘_;) V) Aakaill Jola i pdeal
10

47
piece is 100 meter long and the second

5 s iy 1 ,‘n_;.%@unmu_sgu

5
i s — ter | . Ifh th .
plece 1s 10 meter long e puts the < R ERTTET - S il A

pieces end to end, what is the total length ¢ YL Bl sk Jlaa) S
of the shelf in meters?

The Future Primary School opens on the 744 o W e g Anlan) Jaiuall 4 e :;.i;._,
first day with 744 students enrolled. On the doas .-._H'%‘ sl g “-H.P-‘-“ ot Olaa Uil
second day, 27 more new students arrived. JEH f g} ke Ay elapa Ll 27 Au
However, by the end of the week, 139 S A A e A U139 A el e
students have left for another school.

What is the total number of students :‘-'-".J-"f ot | A Gl Ul se laa) L
left in the Future Primary Schoolat [ ) students  Js¥1 g sl doles & 40lamy) Jadied)
end of the first week? ¢
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Find the area of the figure shown below. abial JCa) dalice 3o

7 m

Answer: :} sAday

square meters
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Aya starts mathematics class at 12:15 12:15 Aelull gie lusaly M a0 4 iy
p.m. She finishes 40 minutes later. sbal bl (5 qi,x'iei-‘ 40 e gl 5 e
Which clock shows the time that Aya L8 O Al A gl (3 S8 a8
finishes mathematics class?
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Select all fractions that when put it in the gaoall (8l y (S Al Sl agaa il
box make the comparison below true. A o) & )laal Jead s jukall

<[]
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ey
Wogo s o R e

R R R S el e e e
O W= hbnf Wk DWW gh R W e o
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% A teacher surveyed her class to find out how Slelud) 220 48 pal LSl Lo Slkaind daled & jal
many hours each student studies outside & ool JS il 2 s ._.,EIJ.:I J8 Ly A
the class each week. The results are shown o) A 5a il

below.

MNumber of Hours
clelodl e

What is the average number of hours Al S Lpuiaiy 31 e ldl 226 Jane e La

spent per student studying outside the ] e i
classroom? ¥ Chall > jla Al ol
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Select all expressions that have like g dgliie Slalia gaal Al puladll agan i3
denominators that could be used as a o Ol pand Gl 8 phadS anais 4l (S

next step to add the two fractions for the obial il
expression shown below?
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Identify the statistical question?

6 ciuall — Aliu g1 A 1 3 Galal)

haa ) gl 33a

What are the heights of the palm
trees in the Liwa Oasis?

?lgldaly 8 il sl skl L

How much did the palm tree
produce in one year?

How tall is the palm tree next to that
car?

aal g alall A il el 2 jldie L
¢

€ 5 el iy 1 J 550 e La

What is the difference in the height
between those two palm trees over
thera?

Select all equivalent expressions to the
expression shown below.

fodla Jadl el Jsh gp G L

slial e gall paadll LHSAN plaill gpan jial

3(x + 6)

3x+18

2(x + B) + (x + B)

2(x+6)+x

(x +6) (x + 6) (x + 6)
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Select all statements that correctly
describe the point plotted on the
coordinate plane below.

6 ciuall — Aliu g1 A 1 3 Galal)

daunua b geay wieal Al D jliall asan sl

olal SIS (5 gle (b Aa guu pall Al

The point is located at the ordered
pair (6, 4).

> X
12345678910

(B, 4) iyl g5 3 sie Adadill 4

The point is 6 units to the right of the
origin on the x-axis and 4 units up
from the origin on the y-axis.

Ot e Dlaa g G aad e Adaiill ol
4 5 x 3Y) jaaall slatly Lot Ak
elails J.-.a}"l i.]ni;_pu.ic.'iﬁ S K
Yol N sadl

The point is 4 units to the right of the
origin on the x-axis and & units up
from the origin on the y-axis

O e Dilaa g 4 aaa e Al A
3% Y gl e sladly Jual) Ak
slatly (Lol ddaii fpe Je S Ciaa o 6
Yol sl

The point is located at the ordered
pair (4, ).

(4, ) il 5 3} e Al i
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Aya is volunteering for a sport event at Uypna b A jlally adaly ;s B de glaia 4
school. She is in charge of providing the WG g el lalay b e

bottled water. This is what she knows. _,-L_ﬂ  FLrOR W

. + (R Min
« The event will last 3 days. 3 opalns 7 g Llda 117 i oS o
opiels el 4
Lol Silala 5 pe 22 4 6 g2iea 5
teachers, and 4 teacher g ' q‘ii) 2;:; . ;f
assistants. 5 En Frd

+ One case of bottled water Lealing Al elall cilals 5 2ae sl J paall i g
contains 24 bottles. Al e ps S B e lis plad g aled g s JS
aaadl

+« There will be 117 students, 7

The table below shows the number of
bottles of water each student, teacher, and
teacher assistant will get for each day of the
event.

Number of Bottles
Arabic

Teacher

Class assistant

| Student
|
|

How many total cases of water will Aya leabinie Al slall Clala ) Galiva 22e oS
need for the three-day event? $ A sl ALY A
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What fraction of the polygon ABCD is ¢ ABCD aladll oya JUaill ¢ jall 4 La
shaded?

=)

Calculate.

74835+267=(_)
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Calculate. el be milion

e

663+1137=__ ]

Calculate.
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11. _
Use the values for a, b, ¢, and d given below zb dlaY sl Anim i d 5 c by @ a8 aasiul
to find the answer of the following Tl )
expression:

a+3b+c-2d=_)

12,
The points P and R are shown on the graph
below. P and R have the same y-value.

A new point T is graphed at (n, -2). The o dialuell (0, —2) 2o T sama 3hdi Craw
distance between point P to point R is the Tkl o dalaall G o R adad) ; P dka)
same as the distance between point _Palal,
Tand P. i}

What is the value of n?
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A teacher surveyed her class to find out how el ase 28 el Lyital To Ut 2aled e gl
many hours each student studies outside the Bl 8 Call 7 sl Kl )
class each week The results are shown sl Raiz je il
below.

X
X

X
X
X

X X

X X X X X X
«—t—t—t—t—t—tt—t—>

0 ¥ 2 3 & 8§86 78

Mumber of Hours
el s

How many students did she survey? ) € aeliliail 23 il LSl e Le
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Which graph correctly shows the three slial oDl L 5 e gy SN ST 3 g
points below plotted correctly? Tlassna § ) pemy pas ) o
A1,3)

B (2, 6)
C (3, 3)

B.

-

e

.
HENWENDNEOO
b Ll LA T~ DD O

L

12345678910

=]
o

0 0
9 9
8 8
7 7
& [
5 5
4 4
3 3 F
2 2
1 1 |-

= ¥

»
123456785910

12345678910

o
o

Mohammad scored 6 goals in the first 5 s i o e Za 35 “,.‘-.\_il:..sl B e Ja
matches. This represents 20% of his total Jise Lelan A ablaal ¢ sana e 20% alaal!
goals scored for the entire season, as bl JS o e sa LS s gall
shown below on the graph.

0% 20% 40% 60% 80% 100%

How many goals did Mohammad score ) iy deas lglass A CilaaYl sae oS
in the season? § s gall
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Ahmed has AED 36.75 to spend at the O Jadll A LY a8 0 36,75 eal s
shop. Each piece of candy costs x sls ald 3 5 ] pb 0 X sls Aadd S
dirhams. He bought 3 pieces of candy. s " k" A aduall Jiag olial el o'
L A & 5
Which expression below represents the T shall 4 22y 2aal

amount of money, in dirhams, that Ahmed
had after he bought the candy?

36.75 - 3x

36.75(3) - x

36.75x - 3

36.75 - (3 + x)

Which statement is true? iasaia L lee 5 jle 5

The number 5.066 rounded to the
nearest hundredth is 5.07

e (e 2 5a 2 8Y Ljie 5,066 224l
5.07 s s

The number 5.117 rounded to the
nearest hundredth is 5.10

e (s 6 3 B Lie 5,117 234l
510 5 sles

The number 5.074 rounded to the
nearest hundredth is 5.08

Wla e ¢ a8V L jie 5,074 222
5.08 s s

The number 5.025 rounded to the
nearest hundredth is 5.02
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Select all following expressions that are ol g gl A AN il e sis]
equal to the number shown below. bz gall

o 1 1
8x10+3x1+4x 1U0+l<m

eighty-three and forty-one T
i g Sl e g ol g a5 0 g B30
thousandths

- 1 1
+ +dx—4
8x10+3x1 4<10 lxlOO

eighty-three and forty-one & L Eme
Al e Gsmal g 2al 5y o sl 5 5
hundredths

In the figure below, each small cube ks cunfe 8 (e alia JS el K21 3
measures 1 unit on each side. ol g basy

What would be the volume of 2150 25 130 JS2N 1: .
this figure if 20 small cubes are :] cubic units H :“ "u‘ O o
removed? [ sha s 20
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20.
VWhat is the value of the y-coordinates of the 05w A wikally o) e Wldedils
point w, to the nearest 0.57

Answer:

21.
Select the true expression.

IXTXTIXTXTx7=7°

EXEXEXEXEXEx6=70
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" Ayesha is building a rectangular garden that 15 L e JS301 Allaiiis ;:3!-,'3'1 elip Adile o 48
is 15 meters wide by 30 meters long. She s> gl g ages ) fia 30 Ledshas B
will put a fence around the garden, except el 3l e Al Al v e L '5'555?'1
where there is a gate that is 3 meters wide. Adliy a2 B0 Zhadl Ga 2l siall S

Al
One meter of fence costs AED 50. The cost #4130 4

of the gate is AED 130.

What is the total cost of the o ¥ i ,
fence and gate? AED () Tl glad 4 (lan) b

Identify the statement that correctly B aff O dagaaa § geay U5 Al S jlall 23a
compares the value of 6 in each number. s S A

The value of the 6 in 26.495 is 10 Sl e 10 = 81 26.495 222l 3 6 Sl
times the value of the 6 in 17.64 17.64 a2l (8 6 3 (e

The value of the 6 in 26.495is 100 530 100 = S 26.405 22all i 6 dad
times the value of the 6 in 17.64. 17.64 222l 36 4 (e

The value of the 6 in 26.495 is % (e 1—10 * 26.495 222l A6 Aad

times the value of the 6 in 17.64. 17.64 222)) 5 6 A

: v B 1
The value of the 6 in 26.495 is —— Je ——
e value of the 6 in ¥ o0 100

times the value of the 6 in 17.64. 17.64 2221l 46 i

o 26.495 2l 3 6 iad
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24.

5 Lot i i e
The area of a rectangular garden is SE 13} Lag e | i SE (5 e Alkiie daa dalis

square meters, and its length is 1% daaall (e b fie l% Aaall Jsb s

meters. What is the width of the ¢ UYL Akl
rectangular garden, in meters?
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A teacher surveyed her class to find out how Sleludl sae 48 jal g2l Lo Sl dadnd 5ol

many hours each student studies outside osd JS Caall s Callla S gy A
the class each week. The results are shown ol A E‘I"‘:"“ll

below,

-
-

X
X X X
01

1

1

4

Number of Hours
Sleladl e

What is the median number of hours Gl S Vghaias 2 Bl 2aad Tasia o) L
spent per student studying outside the [ ] i e S e
HARSroGT? ¥ caall 2 ola Al ol 3

6.
Select all conversions that are correct.

7000 m=7km

fem=007m

0.7 cm =70 mm

7mm = 0.07 cm

Page: 49 of 105 Publication Date: September 2021




| I —
SR UNITED ARAB EMIRATES -_ I I 5 I-I I

MINISTRY OF EDUCATION
4 iwly e Il ohloll Ly i al
The Emirates Standardized Test

(EMSAT) (bl aiiil) <l jlay) JLaa
LAY clial ga

6 ciuall — Aliu g1 A 1 3 Galal)

A rectangular prism has a height of 32 160 leialue JSI ALk, 42e 6 o8 ) i
centimeters. It has a based with an area of el 32 4o il 5 oo ja ladiie
160 square centimeters.

What is the volume of the rectangular 3
prism, in cubic centimeters? [:] il

Which of the following expressions are ¢ LlSie LN &l el a6l
equivalent?
C Ox=3x-4
12x -4
' Sx+x—4

A and C only

B and C only

A and B only

None of the expressions are
equivalent.

AASEe Dl et aa 0 Y
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Aya is volunteering for a sport event at Uypaa A A paally paly ) Soa e glaia 3
school. She is in charge of providing the et g elall Dlala sl G e

bottled water. This is what she knows. _{.I__?i e T TP T

. . L s
« The event will last 3 days. 3 Cpalad 75 s 111“ ‘-’-’s"‘.= %
« There will be 117 students, 7 e bus (paled 4
2lall IL]'I_-LELJUA .L-L'Ijijj.ﬁ..an .
teachers, and 4 teacher : ; :
; Aala 24 o g4y
assistants.

» One case of bottled water Lealing ) elall cilals j e sliol Jgaall e
contains 24 bottles. Al Ga s JS 8 20 bisa alaa 5 alaa gl S
(Gaaal)
The table below shows the number of
bottles of water each student, teacher, and
teacher assistant will get for each day of the
event.

Number of Bottles
chala ) 22

Teacher

Teacher assistant

| Student
|
|

What is the total number of bottles of Leald A eledl cilala o sse feal |
water needed for the students for one enting gl e j*'ﬁ i 5
. ..".:.lj A ‘-,?5 l_LJLLI.“

day?
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3;;.}534]1 LLmbtl 1-.A:'-|.:| i.%:uq}h E_)I-__m.j'l _ﬁ:-ﬂ
sl

Select the statement that is always true
for the patterns shown below.

Pattern A 0,5, 10, 15, 20, 25, 30

Pattern B 0, 10, 20, 30, 40, 50, 60

1
Each term in Pattern A is = times

“

the corresponding term in Pattern B.

dﬁ'ﬁdlgd!%ﬁ,ﬂlhﬂhqjhkjs

_B.ln.a.‘ﬁ'luﬁ

Each term in Pattern A is 2 times

the corresponding term in Pattern B.

Bl aall Caaim 8 A baill Jdoa S
B Laaill ol

Each term in Pattern A is 5 less than

the corresponding term in Pattern B.

M1Cp@jiﬂhﬁ\£hdﬁ
B Ll a4 Ll

Each term in Pattern A is 10 less
than the corresponding term in
Pattern B.
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=
R R S N

T R R R N el e e e =]
T L S B el = = B = L N =
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Which of the following is not a factor of ¢ olial il Calaa (pa sl i laa sl
the expression below?

40zyx —48xyz — 24xy
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Use the graph below to answer the Sl e el slal Sl il 2335
question that follows. Ll

Which point can be plotted so that the Sl Jay Cua Lgans y (9Say Al Adadil) L
graph will remain a function after it is ¢ ALl o an  2ag Alla B Sl
plotted?

A
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Select all of the expressions that are not Ll il LESE il apaa jial
equivalent to the expression below.

Identify the equation with a constant of (8 il s e (g g AN Aldlaal) 222
proportionality of 8.
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A customer buys a book that costs AED 35 e N ol Jae e L 80 30 a4 3)
which has been discounted by 25% but the (Kl 25% Rausis o jass 52825 25 Cum Lan 10 35
customer still has to pay the 6% VAT on the Aol A = §% pau ol ol e J) e

discounted price of the book. B

What is the total amount the

customer pays for the discounted AED () ol And B pus (g3l f_-Larl' \_,._-I"Lu.»_! L
book? Round you answer to the the pela oy @Y el G @ € et Al AR
nearest fil.

In the figure below, line UV is parallel to RS RS asitusadl (351 UV sl o (Kol s
and are intersected by two lines Ol A laiiies Lagalad
where mZ5Tv=110". MELSTV=110" Cuss
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The triangle PQR shown below is rotated Se 90° o 5 & lial m sall PQR Ll
90° counterclockwise about the origin to CrsST Jua A J g Aeludl o Jlie ola]
from a new triangle P'Q'R' which is then o5l Jpa a3 G P'QR 30 ‘LE“
reflected across the x-axis to form PIQIRT Cliall oy 558 x Y1
P"Q"R",

What the signs of the coordinates of (x, y) FR" ddaill (x, y)obilaa) ol i L
of Point R™?

¥ is positive and y is negative.

Both x and y are negative.

X is negative and y is positive,

Both x and y are positive.
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Aisha goes to the gym to exercise five days
a week.

» She stretches for 15 minutes
each day.

« She runs an equal number of
minutes each day.

» She spent a total of 250
minutes in the gym in the five
days.

-1:11.]53 15 2l aa sl uilh:h_)gj Lgs:ljj .
ps S

JS il e Lldalase S5 .
P

sl A 2o 250 e Ls o
Acaaddl Y1 8 Al )

How many minutes did she spend
running at the gym each day?

‘o

332 2,400 43l s2al) slac Y o gh aladied o
(P S E S A P

1 pall iy L ) Ll 5 ) 3a
A ae 2,400 Gasa 3 2aall g eday g
Jlaad g

A random number generator is used
2,400 times to generate a number from 1
to 6. Identify the statement that best
predicts how many times the number 3
will appear out of the 2,400 generated
numbers.

It will appear close to 400 times but
most likely not exactly 400 times.

It will appear close to 480 times but
most likely not exactly 480 times.

e o855 50 400 L s jeday i gu
34 400 Bapally (ad a Y

Se (85550 480 Lo seda i gu
35 480 Lzl ad s Y

It will appear exactly 400 times.

534 400 Japually sgda; i g

It will appear exactly 480 times

534 480 Japually gy i yu
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Simplify the expression. il pall 325

2(-20)+ 3[%(—20]} F S[%(SU}} +4(50)

Answer C ]

A rectangular playground is 5 meters wide alghy el 5 a8 Jidaiiia Caale e il
by 15 meters long. The playground width oedls calall Jgla g i e 3318 e 15
and length are both increase by same o) S all ggan AT ¢ Y (el
number. Select all expressions that can yaall canlall Jajae Sl Lgal i -J'c"“"
be used to find the perimeter of the new !
larger playground.

2(2x + 20)

2(x +15) + 2(x + 5)

2(x + 15)(x + 5)

4(x + 15)(x + 5)
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The table below shows the results of a
random survey of grade B and grade 9
students, who were asked if he or she
studies less than 5 hours per week or 5 or
more hours per week.,

8 ciual) — Al g1 Lie 1 4 Galall

Aokl A pdie g Sl il slisl J y2all poca gy
b agie JS s a3 0l ¢ 9 iall 5 8 Ciall
5}iﬁyi$guul5wfﬁiwﬁ?iwﬁ

£l JS I Glel ol Slelu

Less than 5 hours
Clela 5 e B

5 or more hours
8 gl clela §

| Grade 8 49

63 8 aall

| Grade 9 || 58

51 H 9 Caall

Using the table above, which statement of
the following is true?

Tdainn %Je Las 3 gl 151 el Jgaadl aasig)

Less than 50% of the grade 9
students surveyed studies 5 or more
hours per week,

Ol il sl Al (0 50% i
JS ST gl clela B gua sy agd) s o3
& s

More than 50% of the students
surveyed studies less than 5 hours
per week.

pell e 23 8 AL (00 50% 00 S
sl Slele 5 e J8 () gy

More grade 9 students were
surveyed than grade B students.

Al (o S gl e 5 ) 9 il il
8 il

A total of 107 grade 8 students were
surveyed.
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3- - - H B
The graph below shows the relationship G2 05 O ARl sl Ll JAaSH e gy
between weight of bread flour and costs, ot alls ddad g 5l

in dirhams, for bread.
/

Total Cost (AED)

7
/

> X
0.5 1 1.5 2 2.5
Weight in Kilograms
a8 sty (gl

Which statement is not true? fhagmes Gl L Lea s jle .1,-1

The point (0.25, 1) shows the cost is s i 25 5l (0,25, 1) ddaiill puia i

25 fils for 1 kilogram of flour. LGBl e sl a1

The point (0, 0) shows the cost is 0 S (il el jia 51(0,0) Akl a5
fils for 0 kilograms of flour. bl a8

The point (0.5, 2) shows that 0.5 al 2l 0.5 ol (0.5, 2) it a5

kilograms of flour costs 2 dirhams. a3 2 4iad 3l

The point (1, 4) shows the cost is 1054 AED 4 oI (1,4) sl pea
AED 4 for 1 kilogram of flour. Gl (e al e slS
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14,
Two linear functions A and B are shown

below.

ol liaa e B g A Ogidad (il

Function B
y=3x+4

Function A

¥
Z2

10

14

26

Identify the statement about the A il Gl g3 J ga dagaall 5 jlall s3a
properties of Function A and Function B B Al
that is true.

Al 1 clsloall Ll 3l
The y-intercept of Function A is less Al ol A en e ) Adad)

than the y-intercept of Function B.

The y-intercept of Function A is
greater than the y-intercept of
Function B.

Salalall BE—T (‘.'4 c.llnu:” ala3) e _}a...al
B alal

A adial y;ﬂ.‘ﬂ....n.'ill B t.‘n'ii” idais
y bl ;g ae abliill ddais (e
B Al

The rate of change of Function A is
equal to the rate of change of
Function B.

The rate of change of Function A is
less than the rate of change of
Function B.

A J;:'IJ.‘HI.A HEJ‘LA.U__A alhaly el AT
B

B
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The figure below has eight equal sections. A ddia ol jal Al alial S

If the arrow is spun one time, what is the O Juadal La 3aal o5 pal aguud) 3o 523 23 13
probability that the arrow will land on a $2 e heal 236 die agudl il 5
section with a value less than 27
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Use the graph of line ¢ to answer the el a2l f aiieall | Sl Al ash)
guestion that follows. Al s

A new line g has the same slope as line t asy tadivall Jae edi Al @ uas i
and passes through the point (0, 4). B O S b Las Aalaa l‘él' (0, 4) dasly
Which equation could represent line g? §  asiaall

A,

17.
What is the value of y in the system of Calial i pall cialaall sy Sy daiiLe
equations shown below?
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Identify all expressions that are sl el BSS A el apan 23a
equivalent to the expression below.
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Identify the situation where the answer to Jhpaall e adal) Legd 685 Al Alladl 23a

the question is zero?

S g L

A,
A boy leaves his home and walks 1
kilometer due north and stops. He
then walks 1 kilometer due south
and stops. At this point, how many
kilometers was the boy from his
home?

FaghS 1 ddle plag 4l Jia oy pale
el e I3 2my il g3y Jlall slaily
234 o (i g5 g o gial) oladly eSS 1
T aljie e gl shy e slS oS Gl

A boy jumps dives into a swimming
pool 2 meters above the water. He
sank 2 meters and then swam to the
surface of the water. How many
meters did the boy swim?

faais o e Aaladl A8 5 4 o, 5
bl mlass 348 yie 2 adi 5 N all
£ ol L A Y 220

A trail on Jebal Hafeet, starts at an
elevation 100 meters above sea
level. The trail ends at sea level.
What is the change in meters of the
trail in relationship to sea level?

100 gl ) e jad cuia Jin b 3ok
Sie iy, el (5 e 358 fie
@b o A L) b (5 ginea

¢ el s (5 ey S G bl

At a ski resort, the low temperature
was —5° Celsius and the high
temperature was 5% Celsius. What
is the difference between the high
temperature and the low
temperature that day?

5ol pall ds o 8 calS ol il aniia
L, +5°%5,ada 0 ety 45 —5°
Aa 0 il 8l a Aa 0 el G

¢ ?.‘*'\51 ik ‘__’ﬂ 3)1);5
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Identify the statement that describes a
sequence of transformations that will
transform figure 1 into figure 3.

A

a rotation 807 clockwise about the
origin, followed by a reflection
across the x-axis

1 it Rk st 4 k) i
i Ly BN LS

3 JSA I 1 JS20 a3 G

Jas deladl o jlae aladly 90° )y s
Jsaall e lSed) dagty o Lalyl Al
X A2

a rotation 180° clockwise about the
origin, followed by a translation 2
units to the left

Jaa deludl @ jie oladly 180° &lse
S oaa g e 4ady (Jeall ik
el

a rotation 180° clockwise about the
origin, followed by a reflection
across the y-axis

Jaa delull o e olails 180° ol 52
J_g:uu.ll" ) L_-.-J.S:-u‘ ﬂ.!.l:j l..,_la.dl‘)” j..]n.'l.l
Y el A

a rotation 90° clockwise about the
origin, followed by a translation 3
units to the right
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05(5-7x)=8—-(4x+8)

Answer (]
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Select all relationships that have the il Sl e Ll AN BB aan A
same constant of proportionality as the il dlileal

equation shown below?
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Hamza is building a rectangular garden. Jsb 2y JSED Aldaiine dibas ol 3 Jas o g
The length of the garden is 1 meter longer S s e s e fa ] ey Agaall
than twice the width of the garden. The J e 29 (g b dlaall lame
perimeter of the garden is 29 meters.

What is the width of the garden g s .
: ’ ¢ el dmasld) La
in meters? :] m JERYL Aiaal) a je

Identify the equivalent expression to the 2Ll e gall el SSAN el S3a
expression shown below.

%(12 —6x+8)
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A restaurant serves breakfast, lunch, and
dinner. The restaurant offers a daily
special. To estimate the percentage of
customers who order the daily specials,
the restaurant selected a random sample
of customers who had lunch during 2
month period. From the results, the
restaurant determined that 25% of these
customers ordered the daily special.
Which statement about the sample it
true?

l,;"&é_? _oL:m_ll'lj u".lill_g _JILL:'I‘I\-;" L‘—‘l'—:‘:ﬁ‘_! ;"'L" P‘l;;'
Ol A 48 el ald o4 g g e paladll
ea.i:mj'l ald o alall Lﬂﬁ] o adl | gl i)
1155 il ok Cpm R pde e sy
Ja g l.,:':_w.'l":l."ﬁll Cha (1 e B_l Joa e laadl
craall | gl 38 0l ) e 25% o aadaall
Wl e Gl Laa s e gl alad) e sl
Tam

The sample might not be
representative of the population
because it only survey lunch
customers.

aiaall ik pe (S5 -,s.u,’u‘ isa]l
aladh 150,08 ol il I e ci3a L

The sample percentage is the
percentage of customers who order
daily specials.

sl ) (e A o Agal) A
oaladl el (s el

The sample shows that exactly 25%
of the customers ordered the daily
specials.

No generalizations can be made
because the sample size is too
small.

(o 25% il Al selsd
oalall e gl el | gl il

i Ll aas Y Aaiil) ppan Sy Y

.l|-1-‘_h
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A student is simplifying the expression U e gall panill el dllall (52a)
shown below.

3,

2(—20)+3{

t—zm}s %(5D)]+4(SD)

The student has made at least one error. A e aaly s 8 5-_111-1?11 Ciadl g
Her steps are shown below. L) gl i gy olinl a3

Step 1: 2(—20)+3(-25)+5(20) + 4(50)
Step 2: (3+2)(-20+ - 25)+(5 + 4)(20 +50)
Step 3; 5(—45)+9(70)

Step 4 —225+630

Step 5. 405

Identify the step in which the student Al (g Lo Jgf L i 15 ladll s3a
made her first error.

A,
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Select all of the equations below that are s Jiad A DY alaall aaa gl o U e
linear functions of x. X Ay Ak
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28, . - PR,
Use the graph of line t to answer the e Aladl t il Jaadl | Sbll Jiadl andsul

question that follows. ol sl

A new line g has the same slope as line ¢ s b asiisall Jua e 4] g B3 paline
and passes through the point (0, 4). 25 Lol 4 Jia i Lae g2 51 (0,4) il
Which table below represents 4 points on ¢ g piliudl o
the line g7

—

A
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Use the graph below to answer the Sl D sadl e lah slial JEAN sasiul
question that follows.

Select the interval below for which the Sl 3ia allal) Lasic 85 Al 5 sl sl
function is increasing.

A,
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The three figures shown below on the s shall slial Aaia gall 5NN JISEY
coordinate plane are congruent. Adlhie syl

Identify the statement that describes a ot SO sl Aliales sl Al jlall 23a
sequence of transformations that will 2 J8A A S Jsad g
transform figure 1 into figure 2.

a reflection across the x-axis, T
hanad) Angiy o) AY ganall e ulSad)

ol ) Sdaa s 3

followed by a translation 3 units to
the right

a reflection across the x-axis,
followed by a translation 2 units to
the left

s 4ty ox LAY el e ulSadl
) () Cpion

a rotation 180° clockwise about the Jes felull o jlie oladl 4 180° o) e
origin, followad by a translation 2 S OBy lad] Aadly 1 Jaa) Al
units to the left el

a rotation 180° clockwise about the e delull o jie oladl 4 180° oo
origin, followed by a translation 3 ) Slan g 3 Clal dadhy o deall ddais
units to the right Lol
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=
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The table below defines a function. el G ol Jsaadl

Input -13 Jaaall

Output -15 -9 z ol

Select the number that can replace A and Jsaadl Jhay g A JlSe anin g (e (o) 22e]1 jid
the table still defines as a function. Al

Which of the following equations is danin pall Alnall { AUS5 A0 Y sl (0 ]
equivalent to the equation shown below? Folial

x2=6x=-27=0

(x-3)2=36

(x-3)2=28

(x -6)* =63

x(x=3)=2
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The population of a small village for certain Sanl 8 jpham 4y )8 (IS alaat slial Jpaall i g
years is shown below. Sl gi

Base Year Estimated population
Lo A 28 gl alal)

| 2003 | 3 I 3,218 |
| | I |
| | I |
| | i |

Year 4iull

2005 3.628
2007 3,721
2009 3,571

5
7
9

The population for this village can be ol A il o2 Sl sl dalal S
modeled by the expression shown below, B g Toy il il sae t Cua colial e pall
where t is the number of years since 2000. 2000

P=2,649(1.045)
What does the value 2,649 represent? ¢ 2,649 Laall Jid il

A
the predicted population in 2000 2000 s pd giall SIS dlad

the predicted increase in the

O aland b Aad giall A giudl sl 50
population each year < (o Al gl 2 il 2ol 5l

the percentage the population is Bl 5 Al il A il ghall Apul)
predicted to increase each year okl

the population of the village in 2649 2649 A s gl S dlaas
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A random sample of 200 students were sy Aty Witk 200 280 e Aye ¢ Maiul
surveyed to select the color of school sbial J gaadl pea p A paall (g 301 oy} sy
uniforms. The table below shows the MY il
results survey.

Boys 45 20 B

Girls 25 15 )

Select all true statements. Aasall &l jlall aaa i

A,
10 O o 10
3 of students who preferred blue Osbemiy (Al S 5 Bl e 35

were girls. il (e a0l

2 ; i
1"7% of the boys preferred green. Y Gl shmis 2 YT e %

40% of the students were girls. Sl e et Sl y G2l e 40%

sl 1 alzaiy sl o oSl e TO%

70% of the students preferred red. %
aat
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Use the figure below to answer the il Jaadd e el elind (SN aassl)
question that follows.

Which function below can be used to find O ol dlagl gelaanid (S b e ddla (g
the volume of the difference between the Al sl ana g dglalall 43 ghuyl aaa
inner and outer cylinder? fass il

V(r)=12m(100 - r?)

V(r)= 1207 - 12mr?

V(R =12m(10-r)?
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In nature, biological growth is modeled pladiuly o sl ) paill 2233 o Aaglall
using exponential equations. To O 20ms g AGIS) RSN paadl A Alalas

Adlall alaaiuls Lihadad o5 clalacdl ee Slilall
Ailaie & UL 22 N Sy N(t)=ab’

determine the population density of a
certain type of

non-native plant, the number of plants, N, Luldbsa st oell die i
in an area at time t, where a and b are e pi Sl allall a8 sl aia g
constants is modeled by the function

N(t)=ab'.

The table shows two values of the
function for a certain non-native plant.

N(t)
150
450

Which equation can be used to find the o Sl e sy aasid o e Alilas gl
number of plants in an area at time {7 1ol e Lo ddlai

A.  B. ¢
N(t) = 150(3)" N(t)=450(3)

N(D) = 150(1)' ' N() = 450(1)'
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The triangles ABC and DEF are similar Laga s 0 g Jlgldiin DEF s ABC

and their respective vertices are shown sl e slis) dani 5a
below.

MABC: A1, -2), B(1,05), C(2, 1)

),
L DEF. D(4, —3), E(4, 2), F(8, 3)

Identify the scale factor of dilation from o ABC Slial e sxaill | uliie Jalas e La
triangle ABC to triangle DEF. ¥ DEF &bl

A.
The scale factor is 2. 2 s el elas

The scale factor is 0.5. 0.5 s Ldiall Jalas

The scale factor is 4. 4 s el Lalas

The scale factor is 1. 1 s il Jales
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gt b
[1 L]

The two triangles shown below are A ABC~ A DEF «hediie sal Gl
similar, & ABC -~ 4 DEF.

What is the value of x?
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The figure below shows two perpendicular die g g h Cpelade (pagiin slial JSEN iy
lines, h, and g, intersecting at point P in 3 g pluall b jaie 4l JRNs P Akl
the interior of the trapezoid. Line gis A il alaly 5 o jalall 4k Jacls
parallel to the bases and bisects both legs el (e 38 alal f pituall
of the trapezoid. Line h bisects both

bases of the trapezoid.

Which transformation will always carry the ¢ asii ) JSEN iy g Laa g
figure onto itself?

A
a reflection across line h h adiuall & Sl

a reflection across line g g piisall 8 ilSal]

a rotation 90° clockwise about point Jsa deladl 0 jlae oladl 3 90° o) 52
=] P il

a rotation 1807 clockwise about Js= deldl o jlie oladl 4 180° ol ,se
point P P adasl|
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10.
Use the parallelogram below and given slaaall Jn y il 5 sbiad £ 3zl (o) 5T o
conditions to answer the question that A Jgedt e ddai
follows.

What is the length of BE?
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1.
The two triangle below are similar. Olgliia sl L

Which ratio represents sin (H)?
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2. -
The figure below shows the graph of ) A s slial JSEN iy
function f{x).

A second function g(x) is defined by the Uslaally 43 jaa g(x) s a1 Al
equation g(x) = =3x + 2. Identify the true gx)=-3x+2

statement below. g Lagh g all 5 jlall S3s

fi2) is greater than g(2) g(2) o= S f(2)

f{=2) is greater than g(-2) g(=2) o Sl f(=2)

fi-1)is less than g(-1) g(=1) o= sl f(=1)

f(1) is less than g(1) g(1) o= sl f(1)
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The population of a small city in 2010 was 2010 sle 5 pa 4. 3 €00 dlaas 2L
36,000. In 2015, the population was ; 2laad 2 2015 Ao 25 38 36,000
43,800. If the population growth is linear and Ui Sl pai G 1A« 303 43,800 oS
growth occurs at the same rate, what will the s Ol dlas J)i,'u'js comall ity et OIS,
population be in 20207 Round your answer e s 0 B sl 78 92020 Lo
to the nearest whole number.

ANSwWer C )
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Identify the graph of the solution for e gall igliall sl Jad ) Jaal m
system of inequalities shown below. Lelial

X+y<6
x+2y<8

™ B

A

—— g

Page: 92 of 105 Publication Date: September 2021




| I —
SR UNITED ARAB EMIRATES -— I I 5 I-I I

u'i' MINISTRY OF EDUCATION & )l GhLoll Ly Al
The Emirates Standardized Test

(EMSAT) (bl aiiil) <l jlay) JLaa
LAY clial ga

10 iall — Al ) 3 4 : 5 Galal)

Use the function f below to answer the A Jadl e ladld slial £ AN paaiul
guestion that follows.

fix)=x?-2x-24

Fflx+3)=x2+kx—21, whatis Lad of(x +3) =2+ kx =21 S 13
; k=)

the value of k7 ? fiad

" The figure below contains two semicircles i (liulale G il sl (e bl JS2 ) S5
that are tangent to each other at point B Ol 2ie Legl ulas DE gladll 5 B il
and ray DE is tangent to both semicircles FsE
at points E and F.

i
-

A

If PB = BC = 6, what does line segment lalill Jsbw c PB=BC =6 s 13
ED equal? § ED Awiiuall

A

6v2
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e £
Given the equation below. slaal Alilaall Cudael 13

Q=2X+2R

Identify the equivalent equation in terms XA g g ST Alolaadl saa
of X.
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Use the function f below to answer the A Jlsadt e da s sl FAllall aadil)
question that follows.

fO)=x2=2x-24

What are the zeros of f(x +3)7 € fix +3) A il 4 L

19.

Identify expression that is equivalent to L eaa gl il ESEY jpal) s3a
the expression shown below.

(3x° +8x3) - (7x2 -6x3)

3x° + 14x3 - 7x2

3x° +2x3 - 7x?

-4x? + 14x3

-4x3 + 14
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In the figure below, EB is the diameter of Fla S e a0l 5 lall jld FR ol JSa)
the circle with the center F and F8 is 3 b las g 3 (s shn FB Jsbas

units in length.

Which expression represents the arc
length of AED?

21.
What is the x-coordinate of the point of ool bl ) L LlEa k] i il HaaY L
intersection for the two equations shown
below?

y=x°=2x=5

y=x>-2x?-5x-9

Answer. [ ] ALY
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A given quadratic equation has integer Lol s Angaa alae | Leitalas duny 5 Alolas Sl
coefficients and two unique zeros. If one s il sl s 1y OliliSa () O b
of the zeros is irrational, which statement Al Sl ol e Blic. rgh gl g8 e
is true about the other zero? LAY Jiall e daaa

The other zero must be irrational. s et 230 S ol sy AW jiall

The other zero must be rational. et 230 568 ol aag AN jiall

The other zero can be either rational o et 322 0580 ol Sy AN jiall
or irrational. i

The other zero must be a non-real

siin e 236 56 ol ms JAYY il
number, - H= OsS Olem A
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The area of a rectangular garden is
modeled by function below where x is the
width of the garden.

Gix) =

Identify the true statement about G(x).

The x-intercepts of the function are
0 and 18 and are the lower and
upper bounds far the possible
widths of the garden.

10 iall — Al )3 e ; 5 Galal)

olial ANally JSAN Alplie Aipis Aabue dadal oy

Adpall (e 4 X Cua

-2x% + 36x

G(X) e Aagnall 3)1.9.].'! 2ia

JJS:‘xL,r‘:"—h __]_,a..a.‘l'lc.nﬂ'l.\l'lthmlnﬁd
Ofiad S5 sl Ly 18 50 e

Fiall Sl g el

The x-intercepts of the function are
0 and 18 and are the lower and
upper bounds for the possible
lengths of the garden.

._,I}S-\X.__rl-\-ni" ),;._JESJLLIL{.__LLE:.LGJ
Ufiad Sl g jriallesy 18 50 e
Adaall el Jshll

The x-intercepts of the function are
0 and 8 and are the lower and upper
bounds for the possible widths of
the garden.

The x-intercepts of the function are
0 and 8 and are the lower and upper
bounds for the possible lengths of
the garden.
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Identify the graph of the equation below. bl dlslaall ) el sas
Ey—3x=-15

B,

FERENEE
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The points (=4, -3}, (20, 15), and (48, 36) (48,36) 5(20, 15)5(—4, — 3) bl ai

are points on the same line. Identify O ﬁﬁ-_[ 3 daa | asibeaall Ladll i e
another point on this same line. piaall Jadl) 138 s e adi  SY

Use the graph below to answer the guestion 0 L 900 B € P SR Y G (RE
that follows.

14
A

B
(10, 10)

) i

A point C lies between point A and B. If the o Al calS W B s A g;-_ai—" ou G -'w-‘imll a1
ratio of the length of AC to the length el ol 31 2 CB Usb J AC sk

of C8 is 3:1. what is the x-coordinate of point ¢ C aall ¥ uall

c?

Answer. [ ]
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The points (=13, 20), (21, -31), and (7, 5 (21, =31) 5(-13,20) L

_19} are solutions to a 1inearlequatioln. 4'; Jghd illed Jgda 4 (7, - 10)
Which of the graphs below will contain all L TR R W |
the ordered pairs in the solution set of this glal gran gp gl slial el a8

linear equation? ? Lhodl) dlileall o3g] Jall de yane (B 45 all

A.
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Select all of the points that represent the Alall jlaal) Jiad A Lladl aran gl
zeros of the function shown below. Lelaal dais gall

fO)=(x%+2x-8)(x -6)

(2,0)

(6, 0)

(-4, 0)

(-6, 0)
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Use the right triangle ABC below and the slanall do g pall g slial Ay g 11 L5060 Sl aaasil

given conditions to answer the question el Jlsdt e dolad
that follows.

mLB=msLC
sinB=r
cosf=s

A

What is sinC - cosC? ¢ 5iNC - cosC (55t b Laa (5

The population of a small city in 2010 was 2010 Ao 5 i dina o Gl alaad 2
36,000. In 2015, the population was L #2015 A= 25 36,000
43,800. If the population growth is S, L ) s S 1Y« 43,800 clsad)
exponential and growth occurs at the same plo o2 Sl daat o) 80 26 el iy galy
rate, what will be the population be in guaea e AT dlulal G5 £2020
20207 Round your answer to the nearest

whole number.

Answer: C )
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Geometry |IMBEIC RS

Emirsta Standardized Test EmSal 715

- Area of square
Perimeter (P} and Circumference (C): i

Area of a rectangle

Area of a circle
Perimeter of a square P o= dd

Perimeter of a quadrilateral P =5 +5;45; 4+ 54 Area of a triangle

Perimeter of a triangle P=s+35;+s5 A £ el
red of @ paraligiogram

. 2 h("ﬁ * hl:'
Perimeter of Trapezoid P= TR Area of trapezoid

Circumference of a circle C =2

Area of a rhembus

Volume (\): Area of Ellipse

i Area of Cube

Wolume of a cube

Volume of a rectangular prism Surface area (SA):

Volume of a right cylinder

Quantity Formulo

Vol of a sph
LIS OF SRR Surface area of rectangular prism SA = Z(wl + hi + hw) |

Surface area of a cube 54 = 6s*
Volume of a cane

Surface area of cylinder SA = 2arh + 2mr?

Volume of a rectangular
pyramid

Surface area of a sphere SA = 4ur?

Surface area of cone SA =nrs

Volume of a triangular prism

Units Conversion:
lem=10 mm 1g=1000 mg imL=1em? K="C+273.15 1 psi = 0.0GE atm
1m=100cm 1 kg = 1000 g 1dl =100 mL *C={F-32)x5/9 1 atm=101.325 kPa
1 m=1000 mm 1 mg= 1000 pg 1L=10dL lcal=4.1841 1 atm = 760 mmHg
1 ke = 1000 m llb=160oz 1L=1000mL 1 atm = 1.01325 bar
1ft=121in lkg=220lb 1 pint = 2 cups 1 mmHg =1 torr
lyard=3ft 454g=11lb 1gt=4cups
1 mile = 5280 ft lton=907.2kg | 1gallon =4 qgts
lin=2.54cm 46mL=1qt
lyd =0914m 1L=106qt
1 km =0.621 miles
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